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Section 1 - Reasoning

No. of Questions: 50

1) Select one of the following four options that will make the second pair analogous to the first pair
given as:

Ants : Nest :: Bees : ?

A) Herd
B) Flock
C) Hive
D) Family

1) Frfaf@a IR et & ¥ U BT Y Ol ALY SIS D! Ugel SiIS! o FHAET ST
Hifeat: ist : AYATFET :?

A g
B) qg
C) o
D) afar

2) What is the next term in the number series given below?
57, 57, 46, 46, 35,

A) 12
B) 35
C) 19
D) 29

2) it &) TS FEwT ARGl # SATe UG 77T 67
57, 57, 46, 46, 35,

A) 12
B) 35
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C) 19
D) 29

3)57isto19as81isto___

A) 23
B) 27
C) 29
D) 34

3) 57 o1 yR ¥ 19 § FFaferd o, S TR 81, ?

A) 23
B) 27
C)29
D) 34

4) In a certain code, ‘731’ is coded as ‘study very hard’, ‘953’ is coded as ‘hard work pays’ and
‘145’ is coded as ‘study and work’. Which digit in that code is coded as ‘very’?

A) 1

B)7

C)4

D)9

4) U TAfRed &e #, '731' PIHT T ‘study very hard’, '953' BT 31 B ‘hard work pays’ 3R '145' &I
3% § ‘study and work’. fREATAfRIT & ¥ $I4 Al T 'very' BT de BRI 2

A) 1
B) 7
C)4
D)9

5) Which of the following statements can be used to answer the given question?
Question : Which day of the week is today?

A) Today is not a Tuesday
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B) Yesterday was Wednesday
C) Tomorrow is not a Sunday
D) Problem cannot be solved

5) 39 FFEIT IR 0T a1 & e eeafaf@d & Q g YT &1 TR iR ol I &:
T2 : TS Fodg HI DI T T 872

A) 31T HITAAR 78T 8

B) e gHarR T

C) o faar w1g &

D) garean ga &t & S Tobell &

6) How many triangles are there in the following figure?

A) 6
B) 8
C) 10
D) 12

6) fee=Tfaf@d S & foncer Feyst 872
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A) 6
B) 8
C) 10
D) 12

7) Which of the following sets is NOT similar to the given set?
(May, July, October)

A) (January, March, May)
B)

)

)

(

(May, August, December)
C)(
(

D

April, July, October)
January, May, July)

7) frfaf@a #§ @ &9 91 ¥e e U I & UM 767 82

8) Which of the following questions can be answered by using the given statements?

Statements:

A) Shyam is brother of Rahul
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B) Radha is sister of Shyam

A) Who is father of Radha?

B) Who all are brothers of Radha?
C) Is Shyam a brother of Radha?
D) Is Madhu mother of Shyam?

8) T TN &=t BT SUTNT ke fole=ifari@d & T ford 92eT H1 3a< T ST bl 872

DY ;

A) 2T XTEd BT 4TS &

B) 7T 2TH i 98 &

A) 14T T e BIF 22

B) Jrem & gt uTE i &2
C) = 27 T BT TS 82
D) o 1y ezmar 1 AT 87

9) Meena is twice as old as Shina. 3 years ago, Meena was thrice as old as Shina. What is the
present age of Meena?

A) 12 years
B) 8 years
C) 6 years
D) 4 years

9) HHT =1 ¥ SN SS15 | i 1dt g, HiAT =1 & faapit Srs e | HH1 iy oo 37 & 57

A) 12 a§
B) 8
C)eas
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D)4 a§

10) Showing a photograph, Priya said, "he was the only son of the father of my sister’s
brother." How is that person related to Priya?

A) Brother in law
B) Father

C) Son

D) Brother

10) T WIC! el §U il = 8T o a8 #L 961 & HIS & T bl TS U § | I8 cafereT ol 1
T AT 82

A) Frar
B) Rrar
C) =1 uTg
D) g

11) Given below are four pairs of numbers. In three of the pairs, the 2nd number is related to the
first number in the same logical way. Which is the odd one out?

A) 123 -6
B) 257 - 14
C) 235 -10
D)712-8

11) i T3t & IR e fgw MU | diiF st &, gudy dear SHlarfehe aih ¥ ugel dear
Tafta g1 i I TS v 82

A) 123 -6
B) 257 - 14
C) 235 -10
D)712-8

Page60f89



Setld: 61812 2 Technical Assistant(LAB) — Civil  BATCH3 180CT2020

12) In what way can the terms of the given set be divided into two different sets on the basis
of vowels and consonants?
(B,H, T,E,O,A M, U,P)

A) (E, T, A, U)and (B, H, O, M,

B) (E,O,A,U)and (B, H, T, M,
)(H,O,A,U)and (B, E, T, M,
)

E,O,A,B)and (U, H, T, M,

C

(
(
(
D) (

P)
P)
P)
P)

12) forr 8% W 59 Y=o Pl al At et ¥ TRt IR cToteit & SMUR W Faffepd fpam Sl Jebal
87

(B,H,T,E,O,A, M, U, P)

A) (E, T,A,U) 3R (B, H, O, M, P)

B) (E,0,A,U) 3R (B, H,T, M, P)

C) (H,0,A,U) 3R (B,E, T, M, P)

D) (E, 0, A, B) 3R (U, H, T, M, P)

13) What is the minimum number of cuts required to form 64 small identical cubes from a bigger
cube?

A) 5
B) 7
C)9
D) 10

13) THh 999 U 64 BIC T TN & oI =g7qH Rhciel BT HTaeehel 82

A) 5
B) 7
C)9
D) 10

14) Select one of the following four options that will make the second pair analogous to the first
pair given as:

Dog : Bitch :: Drone : ?
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A) Bear
B) Bee
C) Doe
D) Stag

14) AT IR Fheul & ¥ T BT 90 At Sl gl SIg] D! Igel SISl o TATT S ll:

15) Read the information given below and answer the question that follows: There are six teachers
A, B, C, D, E and F in a school. Each of the teachers teaches two subjects - one compulsory and
one optional. D’s optional subject is History while 3 others have it as compulsory subject. E and F
have Physics as one of their subjects. F’'s compulsory subject is Mathematics which is an optional
subject of both C and E. History and English are A’s subjects but in terms of compulsory and
optional subjects, they are just reverse of those of D’s. Chemistry is an optional subject of only one
of them. The only female teacher in the school has English as her compulsory subject.

What is C's compulsory subject?

A) History

B) Physics

C) Chemistry
D) Mathematics

15) A1 &1 T8 STy 9 3R 3 JaTd 1 aTg &

TS fdegrerg & B¢ ReTh A, B, C, D, E 3R F &1 e Rt &) [aval HIUgrd & - TP e vy
3R TP dfous| D &1 dspfode a5 STIgrd § STafeh 3 31 oielt H198 e v g1 E 3R

F & fawdl & 9 ue sif3dr 31 F &1 31frard s a1ftig 8 S C SR E it &1 U dasfous v g
sfaer 3R 33T A & Ry €, aftret faar 3R dwfous Fwat $EesT 7, 3 D & &% fAada &l
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TG 314 Y Bac U Pl Johfouh v § | THd & Tehard Afger et & U faard s & &9
# 3 B

C &1 31far v #4182

A) sfaerar
B) siifahr
C)
D) 1o

16) In a row of children, G is sixteenth from the left end of the row. If she is shifted towards the

right by four places, then she becomes fifth from the right end. How many children are there in the
row?

A) 24
B) 25
C)26
D) 23

16) S=df 1 TP dfad &, G Ufed & a8 BR I Helgd €U W g1 I IV AR w211 it iR
TR fRaT SIldT 8, df 98 &gt BR 9 Irad T21=T UR 31 9ldt g | 9fFa & fhder s=ar &7

A) 24
B) 25
C) 26
D) 23

17) What is the missing term in the number series given below?
34.5, 71, , 868, 4345, 26076

A) 280
B) 216
C) 198
D) 149
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17) 2 &1 TS T 4 # S UG #7471 82
34.5,71, ___, 868, 4345, 26076

A) 280
B) 216
C) 198
D) 149

18) What is the next term in the number series given below?
3,4,6, 10, 18, 34,

A) 65
B) 68
C) 70
D) 66

18) A &Y TS TEAT 4%l 3 STTell U T 82
3,4,6,10, 18, 34,

A) 65
B) 68
C) 70
D) 66

19) What is the next term in the number series given below?
31, 8,4.5,5.5, 13, 56,

A) 512
B) 648
C) 560
D) 456
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19) 1< &Y T8 T Sl 3 STl UG 87
31,8,4.5,55, 13, 56,

A) 512
B) 648
C) 560
D) 456

20) Within a time-interval a train travels 84 km whereas a bus travels 38 km. How long will the train
travel when the bus travels 95 miles?

A) 150 kms
B) 168 kms
C) 210 kms
D) 320 kms

20) T JHY 3HdRTd & HIdR TP 27 84 fralt Amm il o, Tafeh T 99 38 fanedy 1 Amar HRcl g | o
Y 95 TS & AT B o, Al & fheletl G Y T B2

A) 150 forar
B) 168 faneft
C) 210 foray
D) 320 feref

21) If AIR is coded as GREEN, GREEN is coded as BLUE, BLUE is coded as SKY, SKY is coded
as YELLOW and YELLOW is coded as WATER, then what would be the code for ‘colour of clear

sky’?

A) BLUE

B) WATER
C) YELLOW
D) SKY
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21) af& AIR I GREEN & &9 # , GREEN &1 BLUE & &7 3, BLUE &I SKY & &9 # Pcaeyr fomar

T 8, SKY ®IYELLOW & &9 & 3R YELLOW HIWATER & &9 # Pesey fhar 74T &, dl ‘clear
sky & T BT 4T GIN?

A) BLUE
B) WATER
C) YELLOW
D) SKY

22) In a certain code ‘123’ is coded as ‘hot filtered coffee’, ‘356’ is coded as ‘very hot day’ and ‘589’
is coded as ‘day and night’. Which digit in that code is coded as ‘very’?

A) 3
B) 5
C)9
D)6

22) e fAREd e HIWT 3 '123' &I ‘hot filtered coffee’ & &9 3, '356' 1 ‘very hot day” & &9 & 3R
'589' &1 ‘day and night', & & 31 Tor@r T & | $ HIWT 3 DI Al 6T 'very' & &9 & Heaey &2

A) 3
B) 5
C)9
D)6

23) In a certain code, ‘256’ is coded as ‘you are good’, ‘637’ is coded as ‘we are bad’ and ‘358’ is
coded as ‘good and bad’. Which digit in that code is coded as ‘and’?

A) 8
B) 6
C)3
D)7

23) U fARad e HIWT 3 '256' Bl ‘you are good' & & &, '637' B! ‘we are bad’ & &7 & 3R '358' Pl
‘good and bad' & &7 # fI@T 7T § | B Ul FEAT 'and' BT He & ?

A) 8
B) 6
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C)3
D)7

24) Which of the following statements can be used to answer the given question?

Question :

What will be the next month if it does NOT have 30 days?

Statements :
A) Current month has 31 days.

B) Current month is NOT the first or last month of the year.

A) Only A

B) Only B

C) Both A and B together

D) Not possible to decide even with both A and B

24) T TN 927 H1 3R o & forw eaAaf@d & T frg HUT BT SUUNT frar ST bl 82

YReT:

mmﬁqwm&mwﬁw feet =TET giar?

DY
A) TTATT TG F 31 feT &1
B) SIS HENT 9 B USHT T 3 AT 781 © |

A) Had A

B) %aaB

C) A 3R B ¥t Ts A1y

D) A 3R B gt & Ty Ht FoTer BT GHa gt §

25) How many triangles are there in the following figure?

Page130f89



Setld: 61812 2 Technical Assistant(LAB) — Civil BATCH3 180CT2020

A) 12
B) 13
C) 14
D) 15

25) rAfafed =7 # fordst [Fenior 572

A) 12
B) 13
C) 14
D) 15

26) Which of the following options does NOT have the same property as the elements of the given
set?

(3, 81, 243, 729, 2187)

A)9
B) 27

C) 15309
D) 6561
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26) fAFaifaf@d 7 @ fra e 3 fqw T He & deal & G 07 767 § 2
(3, 81, 243, 729, 2187)

A) 9

B) 27

C) 15309
D) 6561

27) Which of these options can be judged from one of the remaining three options?

A) P is an even number

B) P is the square root of a number
C) P is a perfect square

D) P is not prime

27) 2197 Q B T Fehed AW A feheat 3 T Th F 3T S bl 82

A) P gH &8

B) P ue wEar #1139 Ha &
C) p qof et &

D) p 3rs7re%r GEaT S1ET ©

28) The head of the department of an office is 26 years old while the cashier is 3 years older. The
average age of all the other 9 employees will be reduced by 1 year, if these two persons are
excluded. What is the average age of the employees in that office?

A) 23 years
B) 25 years
C) 27 years
D) 28 years

28) U riery & Ta879T & TG 1 3T 26 a9 §, STaifeh HAIT I94 3 9 TST5 | I T &

it &l enfirer At e ST, @ 37 T 9 FefaRat A SfIEd 311 T a¥ HH g1 S| 34
hraTerT & TRt i 3 31 fhd= 87

A) 23 o
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B) 25 %
C) 27 a¥
D) 28 a§

29) Seeta's mother's sister's only brother is Ramesh. How is Seeta related to Ramesh?

A) Aunt

B) Sister

C) Niece

D) Daughter

29) VT & AT T T8 BT SHAI HTs A & | JiaT BT IHTY WY T HY g2
A) Tt

B) §g

C) yish

D) s&r

30) Pointing Sumana, Samar said, “Her mother’s brother is the son of my mother’s father.” How is
Sumana’s mother related to Samar?

A) Aunty

B) Sister

C) Mother

D) Daughter

30) G I 3R IURTHRA G, TAR = D, "HHT Al bl HTS HR AT o e 1Y & 1" FAT 1 Al BT
R ¥ a1 Rear 82

A) Tt
B) sg
C) gran
D) a&
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31) Among the given pairs of terms, identify the option in which the pair of terms is NOT similar to
each other?

A) JAM - 24
B) BORE - 40
C)KITE - 47
D) LOOP - 58

31) T U uei oS & ¥, 3 Rehedl 1 UgaH i [SeTel gaf & st Uh-guR & T 8T 62

A) JAM - 24
B) BORE - 40
C)KITE - 47
D) LOOP - 58

32) In the following figural series, which answer figure will come next?

Problem Figures: Answer Figures:
+ +| =+A-+A-+| |-A+A-+| DAA-+
= Q=" O o0 Ol |0 OO0 @ =3 O
ADGADSADS® OO o o @) 90 +|®
(A) (B) © D ®E (1) (2) €)) (4)
A) 1
B) 2
C)3
D) 4

32) fREafaf@a S skael &, B T SHTPHfar reTel 3w SHTHhay gIN?
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Problem Figures: Answer Figures:
+ + -+lA=-+A=-+]| A+ A-+] DA A-+
=K. L) 0 o0 OO0 OO0 @ -a O
AD®ADSADS OO e @ O 90 +|®
(A) (B) © @) (B (1 @ (3) (C)]
A) 1
B) 2
C)3
D)4

33) In the following figural series, which answer figure will complete the pattern?

Problem Figures: Answers Figures:
D@47 a4k
(A) (B) (C) D) (1) (2) (3) ()
A) 1
B) 2
C)3
D) 4

33) AT M skael 3, B 307 Sy deed Bl R BT 2

Problem Figures: Answers Figures:
@4 ?] b4k
(A) (B) (© (D) (D (2) (3 @
A) 1
B) 2
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C)3
D) 4

34) In the following figural series, which answer figure will complete the pattern?

Problem Figures:

Al O @ *

© [AC_| 9

(A) (B) © (D)

Answers Figures:

C

L

C

«

C

L O

(1) 2 (3) (4
A) 1
B) 2
C)3
D)4
34) fAFATald PR sae 3 BIF W 307 SHepfar Vet DI R B2
Problem Figures: Answers Figures:
© (AJC_| 9 « C _|C
A O O ° ¢ O
(A) (B) (C) (D) (1) (2 (3) )

A) 1
B) 2
C)3
D) 4

35) In what way can the terms of the given set be divided into two different sets such that the terms

in each set are similar?
(8, 36, 27, 81, 125, 49)

A) (36, 81, 49) and (8, 27, 125
B) (36, 81, 125) and (8, 27, 49
C) (36, 27, 49) and (8, 81, 125
D) (8, 81, 49) and (36, 27, 125

~— N S SN

Page190f89



Setld: 61812 2 Technical Assistant(LAB) — Civil  BATCH3 180CT2020

35) fore TRE A 4 Y A< & el DI <l Fafdee det ¥ qufied forar S Tl ¢ fF geds 9 & Ug T

G D THET g7
(8, 36, 27, 81, 125, 49)

A) (36, 81, 49) 3R (8, 27, 125)
B) (36, 81, 125) 3R (8, 27, 49)
)(
)(

)

36, 27, 49) 3R (8, 81, 125)

D) (8, 81, 49) 3R (36, 27, 125)

36) A big cube is made from 729 identical smaller cubes and is painted on all the faces. What is
the number of smaller cubes that have atmost two faces painted?

A) 562
B) 821
C) 640
D) 721

36) U 919 729 UM BIC g=il  §-1T 74T § 3R 39 I+t Basi ol e fmar 11 31 T Bl
et i FEaT Rl 8, R 31 @ 1o o BT g 72

A) 562
B) 821
C) 640
D) 721

37) Select one of the following four options that will make the second pair analogous to the first
pair given as:

Disabled : Retarded :: Liberated : ?

A) Captured
B) Free

C) Privileged
D) Liberal
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37) Refai@d IR fsedt 7 Y Th 19U Y Ol GELY SIS bl Tgell Siig S THET ST 11:
3&TH: ATdHG : Hard:?

A) g=dr

B) vaoee

C) faRramfsryTea
D) 3aR

38) Select one of the following four options that will make the second pair analogous to the first
pair given as:

(2+3+5) : 30 :: (3+5+7) :

A) 105
B) 120
C) 145
D) 160

38) fAeAfaf@d IR fasedt & A T H1ITT Y Sl G SlIS| bl gell Silel & THEY 1 G1:
(2+3+5) : 30 :: (3+5+7) : :

A) 105
B) 120
C) 145
D) 160

39) A, B, C, D and E play a game of cards. A says to B, "If you give me 3 cards, you will have as
many cards as E has and if | give you 3 cards, you will have as many cards as D has”. A and B
together have 10 cards more than what D and E together have. If B has 2 cards more than what C
has and the total number of cards is 133, then how many cards does B have?

A) 22
B) 23
C) 25
D) 35
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39) A, B, C, D 3IR E IR BT @ Werd &1 A, B ¥ $ocll 6, "afg MU S 3 F1E &d &, @ e FEE S
U1 & 31U UMY I &1 18 giar 3R a1y 3 31U b1 <l s 31 § ol 3MMUh Urg D & i rs

g1 A SIRB &t & UM AT 10 FIE S SN D SR E gt & el s | HfAFH g1 I B I U C A
2 1S 31 & 3R TS B el TEAT 133 & dll dl B B U fohctel 1S &7

A) 22
B) 23
C)25
D) 35

40) A bought 3 apples and 4 bananas for ¥ 80 while B bought 4 apples and 3 bananas for ¥ 95
from the same shop. What is the difference between the price of one apple and one banana?

AR5
B)Z 10
C)Z 15
D) % 20

40) TP & G 8 T e A 7 3 49 3R 4 B1 2 80 F @lier IR B 7 4 T 3R 3 el 2 95 3 @l
T TS 3R T el T Hred B siid P SR 7 82

A)Z 5
B) 2 10
C)%15
D)% 20

41) Which of the following statements can be used to answer the given question?

Question : What is the radius of the circle P?

A) The diameter of the circle P is twice the radius of the circle P

B) The diameter of the circle P is the longest chord of the circle P

C) lts areais 12 cm? less than that of a square with side length equal to its diameter
D) Problem cannot be solved using the information given in any of the options
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41) 2T T 92 HT 3R &1 & faw ReaAfaf@d & 9§ v ST BT IUTNT 31 ST bl 82

ueeT: I P &1 e #4167

A) gIP PO da P & Asar § AT §

B) ga P Preara 3 P 1 9y wdl ofat 8

SHD] &THeT 12 cm? BH ¢ IH T I A Ioa als IYD A & SRR &

IR et Wt fred & &1 T TR BT IUTNT HRD THEAT B AT T off Tball o

42) Which of the images amongst 1, 2, 3 and 4 is the CORRECT water image of the figure X?

P D P B S

A) Image 1
B) Image 2
C) Image 3
D) Image 4

42) P R X & T AT 1, 2, 3 3R 4 wfafdwst # ¥ SF 1 w8 5 wfafees 82
X 1 2 3 4

A) gfafees 1
B) ufafassr 2
C) gfafarsr 3
D) gfafassr 4
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43) Which of the following options does NOT have the same property as the elements of the given

set?
(BX, HR, DV, FT)

A) EU
B) CW
C) MN
D) GS

43) RFATaEd & ¥ o fasheq & U T 9¢ & deal & GHM T[0T 48T 57
(BX, HR, DV, FT)

A) EU
B) CW
C) MN
D) GS

44) Which of the following questions can be answered by using the given statements?

Statements:
A) Mark and Steve have a total of 109 marbles.

B) The number of marbles with Steve is a two digit prime number.

A) What will be the remainder left when number of marbles with Mark is divided by 2?
B) What will be the remainder left when number of marbles with Mark is divided by 37
C) What will be the remainder left when number of marbles with Steve is divided by 3?
D) What will be the remainder left when number of marbles with Steve is divided by 47?

44) T T AT BT STUN IS =TT @ 7 J fohd ToeT BT 361 T S Fehall 57

DY :

A) #Té 3R €89 & U Fd 109 Fd ¥
B) TG & UTY & avall T TEAT <l 37T d1 3791 HEAT §
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A) AT & U o sl &7 &A1 D1 2 T FTora H UR Jre AT a1 GRIT?
B) #Ah o U & el dhr ST ol 3 I fFITora HR TR wred AU T T2
C) &g & U & ot & Gear $I 3 F Renfora B W yree AV arm g2
D) & o Uk o il & G i 4 Y IsTfSia B UR ured Wl 4T G2

45) Which of these options can be judged from one of the remaining three options?

A) Sum of P and Q is more than 100

B) At least one among P and Q is greater than 50
C) At most one among P and Q is greater than 40
D) At most one among P and Q is lesser than 70

45) 578 Q B 1 Fehed AV A Rt 7 T TH Q 3T ST bl 82

A) p 3R Q ST 100 I 31fIw 7

B) p 3R Q # ¥ HH A HH TH 50 J T &

C) p 3R Q & T U amer T sy 40 ¥ 31+ @
D) p 3R Q # ¥ Us samer A samer 70 T HH @

46) Out of the scores of four students A, B, C and D, the score of A is twice of that of B, the score

of B is one-third of that of C while the score of C is 5 times of that of D. If the average score of A, B,
C and D is 24.75, then what is the highest score?

A) 9

B) 25
C) 30
D) 45

46) IR BTN A, B, C 3R D, TR A F, A HITHR B Y AT 5, B BITHR C & U fagTs & Siafeh
CHITRR D BI5 A1 51 | T A, B, C 3R D BT 3MHd ThR 24.75 &, Tl ITacisl ThIX 4T 67

A) 9
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B) 25
C) 30
D) 45

47) P is the brother of Q, Q is the brother of R, and S is the father of P. On the basis of these
relations, which one of the following statements is definitely wrong?

A) Q is the brother of P
B) Q is the son of S
C)Pisthe sonof R
D) R is the brother of P

47) IR P, QHTHS 8, Q, RBIHUTS §, S, P I ar 51 37 Redt & MR W, eaAtari@a & ¥ SH-91
FHYF AR ®9 9 Ted 82

A)Q, P HTHE §
B)Q, s®1der g
C)p,R®TSI B
DR, PHTUR &

48) Among the given quartets of numbers, identify the option in which numbers are similar to each
other based on prime factors of the numbers?

A) 2, 3, 8 and 64

B) 21,63, 78 and 77
C) 27, 81, 243 and 729
D) 12, 21, 68 and 81

48) fu T TEa3it & Iqsed & ¥, Y e Hr UgdH Y, Hael T Uh-gIR & TAed £72

A) 2,3, 8 3R 64

B) 21, 63, 78 3R 77
C) 27, 81, 243 3R 729
D) 12, 21, 68 3R 81
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49) In what way can the terms of the given set be divided into three sets such that the sum of
the two terms in each set is equal?

(967, 896, 1086, 1246, 807, 1157)

A) (967, 1086), (896, 1157) and (807, 1246)

B) (967, 1157), (896, 807) and (1086, 1246)
) (967, 1157), (896, 1086) and (807, 1246)
)

967, 1086), (807, 1157) and (896, 1246)

C
D

AN SN S/~

49) forg ek ¥ T T I e & uet Bl ol A waat & fsfora fhar o Yabdl @, arieh ol ot
& yet HIART JHH B2
(967, 896, 1086, 1246, 807, 1157)?

A) (967, 1086), (896, 1157) 3iR (807, 1246)

B) (967, 1086), (896, 807) 3IR (1157, 1246)

C) (896, 1086), (967, 1157) 31X (807, 1246)
)

(
(
(
D) (967, 1157), (896, 1086) 3R (807, 1246)

50) Letters of English alphabet are arranged in the form of a triangle in a way that the first row has
1st alphabet, 2nd row has next two alphabets and so on. Which alphabets are in the 6th row?

A) KLMNOP
B) PQRSTU
C) IUKLMN

D) UVWXYZ

50) 31T GUTATET & 37&RT D1 TH S & &9 7 3 TRE Y cFaredd fhaT Sl & foh Tgel Gfebet o
UGN 378 &, GO dferet 31 AT & 378 & STR 341 e o WY | odt dfed & HH ¥ 3w &2

A) KLMNOP
B) PQRSTU
C) IJKLMN

D) UVWXYZ
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Section 2 - English Language

No. of Questions: 50

51) Identify the antonym for the word.
BLUR

A) hit

B) sharpen
C) bounce
D) fit

52) Choose the correct article to complete the sentence:

Meera is going to school.

A) a

B) an

C) the

D) No article required

53) Identify the error in the following sentence. The error, if any, will be in one part of the sentence,
the number of that part is your answer. If there is no error, mark your answer as (D).

(A) This books/ (B) are not (C) for sale. / (D) No Error.

A) A
B) B
c)C
D)D

54) Complete the sentence with a correct phrase. If you want the manager's support you must
the rules.

A) abide by
B) abide on
C) abide for
D) abide at
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55) Fill in the blank with the correct pronoun:
He likes you more than

A) you
B) me
C)it

D) she

56) Select the right preposition for the blank:
They found him to be the most suitable candidate the post.

A) to
B) for
C) with
D) on

57) Fill in the blank with the correct option:

He refused to divulge any details the plan.

A) off
B) with
C) about
D) by

58) Choose the correct option to complete the sentence:
The spotlight faded the houselights came up.

A) if

B) unless
C) and
D) lest

59) Identify the Complex sentence.
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A) His interest in the project declined after his wife died.
B) There is a dearth of new homes in the region.
C) He can't decide whether to buy it.

D) She has always shown great dedication to the cause.

60) Choose the word that is correctly spelt

A) Envison
B) Envision
C) Envesion
D) Ennvision

61) Identify the synonym for the word — barbaric

A) smooth
B) drunk
C) hairy
D) brutal

62) Identify the synonym for the word — anonymous

A) huge

B) carefree
C) eminent
D) unnamed

63) Fill in the blanks with the correct form of verb:
When | go to university, | in the students' hostel.

A) am staying

B) will be staying
C) will have stayed
D) was staying

64) Fill in the blanks with the correct option:

Priya karate class every Saturday.
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A) attended
B) attend
C) attends
D) attending

65) Choose the correct verb to complete the sentence:

[ at the moment.

A) am travelling

B) was travelling
C) will be travelling
D) travelled

66) Choose the correct verb to complete the sentence:

| could not meet him because he

A) will go

B) will be going
C) has gone

D) is going

67) ldentify the antonym for the word — oblivious

A) aware

B) preoccupied
C) evident

D) blind

68) choose the correct article to complete the sentence:
light was so bright that | had to cover my eyes.

A) A

B) No Article required
C) The

D) An

69) Identify the part of the sentence that has an error:
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| couldn't able to ask my dad permission to watch a movie.

A) | couldn't able
B) to ask my dad
C) permission to

D) watch a movie.

70) Choose the meaning of the italicized idiom used in the given sentence.

My colleague told me that, if | accepted the new assignment, | would bite off more than I could
chew because | already had a lot of work to complete.

A) have to work hard

B) impress my boss

C) take on more than | can handle
D) eat greedily

71) Choose the meaning of the italicized idiom used in the given sentence.
The teacher said to the latecomer, "What's your excuse? I'm all ears."

A) going crazy

B) in a hurry

C) very angry

D) listening intently

72) Fill in the blanks with correct option:
We gave them opinion and they gave us opinion.

A) Our's/Theirs
B) Ours/Their's
C) Our/ Their
D) Our/Their's

73) Fill in the blanks with correct option:

He brings chocolates whenever visits us and takes pet wherever he goes.

A) she/her
B) his/he
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C) her/she
D) he/his

74) Choose the correct option to complete the sentence:
All telephone reservations must be confirmed writing.

A) by
B) in
C)on
D) to

75) Choose the correct option to complete the sentence:
Women played a relatively role in the organisation.

A) major

B) best

C) biggest
D) miniature

76) Choose the correct option to complete the sentence:
The load was lifted a crane.

A) by means of
B) through

C) in case of
D) upon

77) ldentify the Compound sentence.

A) The engine drives the wheels.

B) We sat down and started the exam under the strict supervision of the teacher.
C) She was always the driving force behind the scheme.

D) They are just empty promises.

78) Given below are 4 words. Identify the one that has been misspelt.

A) Delicious
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B) Sluggish
C) Acceptible
D) Passivity

79) Given below are 4 words. Identify the one that has been misspelt.

A) Abbess
B) Abetment
C) Ablation
D) Acoutics

80) Identify the synonym for the word — parsimonious

A) fatherly
B) friendly
C) miserly
D) kindly

81) Identify the synonym for the word — ruthless

A) callous
B) porous
C) viscous
D) ponderous

82) Fill in the blanks with the correct form of verb:

Breakfast cereals with vitamins.

A) are enriched

B) enrich

C) is enriching

D) has been enriched

83) Fill in the blanks with the correct form of verb:
His dog generally everywhere with him.

A) go
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B) goes
C) have gone
D) shall go

84) Select the right verb for the blank:

The court the grandmother, as the guardian of the orphan child.

A) appoints
B) appointing
C) appointed
D) appoint

85) Choose the antonym of the underlined word.
The clergyman wrote an elegy in the country churchyard.

A) Layman

B) Ecclesiastic
C) Parson

D) Pastor

86) Choose the correct article to complete the sentence:
| would like to go on European holiday.

A) a

B) an

C) the

D) No article required

87) choose the correct article to complete the sentence:
You should appear calm in interview even if you're terrified.

A) an

B) No Article required
C)a

D) the
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88) Identify the part of the sentence that has an error:

Yesterday, while | was outside, my friend has come to my house.

A) Yesterday,

B) while | was outside
C) my friend has come
D) to my house.

89) Choose the meaning of the italicized idiom used in the given sentence.
The young lady bumped into the little boy so hard that he fell and, then, added insult to injury by

demanding that he should apologize to her.

A) made a bad situation worse
B) scolded him

C) teased him

D) injured him

90) Choose the Pronoun in the given sentence:
The children were arguing among themselves.

A) themselves
B) among

C) were

D) children

91) Fill in the blank with correct option:

The crisis will soon blow

A)in
B) on
C) over
D) of

92) Fill in the blanks with correct option:
It looks as if it is going to rain, so | can't dispense

my umbrella.
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A) with
B) for
C) from
D) of

93) Choose the correct option to complete the sentence:
Vegetarians have an to meat.

A) enthusiasm
B) aversion
C) attraction
D) affection

94) Choose the correct option to complete the sentence:
There was a of traffic as the road was impassable.

A) relocation
B) allocation
C) diversion
D) reversion

95) Identify the Simple sentence.

A) They nearly ate everything before we had arrived.
B) The bee turns nectar into honey.

C) Juliana had a lovely nature so everyone liked her.
D) She tries to be neat, but her husband is a slob.

96) Choose the correctly spelt word

A) Magnifisence
B) Magnifiscence
C) Magnifisense
D) Magnificence

97) Identify the correct synonym:
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Dither

A) Exaggerate
B) Agitation
C) Act

D) Calm

98) Identify the correct synonym:
Entangle

A) Punish
B) Fend

C) Bend

D) Ensnare

99) Fill in the blanks with the correct option:

I tell you, but | forgot.

A) am going to
B) will

C) was going to
D) will try to

100) Select the right verb for the blank:

She carried flowers whenever she

A) visited
B) visit
C) visiting
D) visits

the shrine.
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Section 3 - General Awareness

No. of Questions: 50

101) In which city was the 23rd edition of the Asian Athletics Championship conducted?

A) New Delhi
B) Doha

C) Dhaka

D) Sharjah

101) URIATS Ty ATEGIATAT Bl 2391 HERIOT ford R & TIId v T UT?

A) 75 Tl
B) algr

C) g1

D) grRerg

102) Which one of the following materials is an insulator?

A) Silver

B) Diamond
C) Mercury
D) Iron

102) fAe=Afaf@d & 11 Al Gl Regavie 87

NE
B) &nr
C) Ry

D) dig

103) Which chemical is used as a preservative in acidic foods such as pickles, carbonated drinks?

A) Sodium nitrite

Page390f89



Setld: 61812 2 Technical Assistant(LAB) — Civil  BATCH3 180CT2020

B) Sodium propionate
C) Sulfur dioxide
D) Sodium benzoate

103) 3l WIe Tery Ol 7 3R, Fiefies 0 & qRRets & &9 & e [@rfes gers &1 3uanT
femar STTaT 872

C) gow sre3iierdss
D) gifzg# sSsiue

104) ‘Prohibition of traffic in human beings and forced labour’ has been added in which category of
fundamental rights of our Indian Constitution?

A) Right against exploitation

B) Right to freedom

C) Cultural and educational rights
D) Right to equality

104) BHR YR Tfaen= & Ao 3RHRT & HHd qEm) R TeRA Heigy IR ufaser o fha
Soft 3 ST 82

A) YT & faeeyr JfEsR

B) Taddr &1 3R

C) wremfer 3R Rrem Wt M
D) Swar &1 1R

105) Where is the Velankanni Church situated?

A) Goa

B) Tamil Nadu
C) Maharashtra
D) Karnataka
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105) Jelichostl T BB AT 872

A) et

B) afirereis
C) grrTSg
D) setfeen

106) The Siliguri Corridor, a narrow stretch of land connecting mainland India with the north
eastern states of India is popularly known as

A) Transit route

B) Multimode route
C) Chicken's Neck
D) Peacock's Neck

106) RICNITSIAIRER, HF BT UH Tt 817 Sl HRd & HEg YA DI HRA b 3ax Tdf T2t &A1Y
SISdT 8 | I8 g A W chehiirg 82

A) gifsie &

B) #ediAls &
C) Rrea A
D) frerterer A

107) The English meaning of the Sanskrit word 'Himalayas', which is the home to the world's
highest mountain peak, Mt. Everest is

A) Roof of the World
B) Abode of Snow
C) Rocky Iceberg

D) Abode of Clouds
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107) TEH 2Usg; "TRATer, S G & Fad Helgda A, AISC TaEe BI R 8, DI 373 319 &7
&?

A) §F 3B G dos
B) sraig 3o &
C) 3ter smsaest

D) 3raie 3{1th Forr3g4

108) Among the given the options, identify the incident that took place in the year 1919.

A) Chauri-Chaura Incident

B) Jallianwala Bagh Massacre

C) First War of Indian Independence
D) Non-Cooperation Movement

108) T TN fehent & 9, a§ 1919 & & UeHT S UgdH 3|

A) FRY-TRT geT
B) sferatarem aFT AR
C) worA YR Tad3ar GamA

D) arqganT sfigra

109) Who among the following led the peasant movement in Awadh demanding the abolition of
'Begar', and social boycott of oppressive landlords during the British rule in India?

A) Surendra Sai

B) Chittur Singh

C) Baba Ramchandra
D) Madhukar Shah

109) fr=iforf@a ¥ @ foreey 3@yl 3 fararer sifaler o1 -dea foram, foraet HRA 3 33sh T &
ERM "R Bl Wedt B 3R GHAaTa sTfarT o HHIGD afshr r 7T Hr 78 di?

A) iz a5
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B) frr R
C) g1e1 v
D) ay s ame

110) As per Atrticle 55(3) of the Constitution of India, the President of India is elected through which
of the following processes?

A) Territorial representation
B) Functional representation
C) Proportional representation
D) Minority representation

110) U fIemeT & S e 55 (3) P SFTAR, HRA & Iseufa o ufmansit & 8 fras
garT g4 SId §?

A) wreRIss yfafaftcs
B) sriters fafafaea
C) srymfers sfafafca
D) sreqeiegs ufafafca

111) The Indian government's chief legal advisor and primary law officer is

A) The Solicitor General of India
B) The Chief Justice of India

C) The Secretary, Ministry of Law
D) The Attorney General of India

111) YRA WHR B &I I AGDR 3R 8Tl BT AR HIF &2

A) YR & Fifafex S Rd
B) YRd & Hzwr =amamefer
C) wfera, ST #rera

D) yRd & 3refet o Rd
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112) What is Aditya - L1?

A) New hybrid car developed by Honda Motors, India
B) Battery operated helicopter developed by DRDO
C) First mission of ISRO to study the Sun

D) Industrial robot developed by BARC

112) 3MfecT L1 &R g7

A) gisT e, YRd ganT A s gIsfs R
B) DRDO 2@ fasr e dedy Fanford geferreex

C) g 1 3regger B & AT ISRO 1 Ugdl Az
D) BARC garr fasfaa sileziferes siie

113) Which Cricket team clinched Raniji Trophy title 2018-19?

A) Mumbai
B) Rajasthan
C) Vidarbha
D) Jharkhand

113) for fepehe &1 A YUSH 21T 2018-19 &1 f@dTE SildT?
A) Hag

B) qrereur=
C) fyest
D) girvds

114) The first edition of Khelo India School Games (KISG) inaugurated by Prime
Minister Narendra Modi was held in which of the following cities?

A) New Delhi
B) Pune

C) Vizag

D) Chennai
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114) JEITT#EY g A gaRT 3eaTed Wdl 331 Thd A5 (KISG) BT Ugdl TEvT fRefaiad &
Y fore Qe A AT fapam T T2

A) 7 feeelr
S

C) A5

D) 37

115) The world's first 5G phone was released in which of the following countries in April 20197?

A) Denmark

B) Singapore

C) United States America
D) South Korea

115) e 1 Ugdl 5G I 31del 2019 & oot & ¥ v a=18 STy fovam T 17

A) gaATh

B) oz

C) Ygaa wswr 3mRa
D) Zfaor hifar

116) In March 2019, who among the following was appointed as the Chairman of Life Insurance
Corporation of India(LIC)?

A) T C Suseel Kumar
B) M R Kumar

C) Varsha Sharma
D) Raj Kumar

116) AT 2019 &, HRAF Sita ST fRam (LIC) & 3reweT & &9 F Arafafad & 9 fra @gea fean
TaT?
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A) & I =il $AR
B) T 3R pHR
C) au eraAt

D) 31e $HR

117) Which one of the following waves/rays CANNOT pass through vacuum?

A) Sound waves
B) Gamma rays
C) Ultraviolet rays
D) Radio waves

117) fo=tar@d & ¥ $IF Ul a3t / frot fafa (@gH) 9 781 oR gl &2

A) eafay a3
B) e fezor
C) wrrafarey foRgor
D) Y=t @’

118) Invar, a nickel steel alloy is used in clocks due to which of the following characteristics?

A) Negative thermal coefficient

B) Positive thermal coefficient

C) Low coefficient of thermal expansion
D) High coefficient of thermal expansion

118) 3R, Ueh Tarcher T T4 UTq, 1 SN afzat 7 Peafafaa # ¥ fFa Rdyar & SRl
STl &2

A) FOTcA 2ael TS
B) trefreaen 2afer T[UIIS

C) &y d1ii faear Tl
D) 3= drdig fawar ol
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119) The ideals of 'liberty, equality and fraternity' stated in the Preamble of the Indian Constitution
have been taken from the

A) Russian Revolution
B) Irish Revolution

C) French Revolution
D) Spanish Revolution

119) YR HIeT 1 See iR # afoTd Fad=ar, JHHdT 3R SYdr & 3meif & fFa wifea 9 fomr
T 87

A) e sifar
B) smafer wifa
C) thar wifa
D) vt shifar

120) Who among the following appoints the Prime Minister of India?

A) President of India

B) Governor of state

C) Citizens of India

D) Chief Justice of India

120) fAFEATEd # @ B YR & guta 741 A1 RgFd Sl 57
A) YRd & Tseafa

B) =g &1 asgre
C) YRd & aeR=
D) YRa & Az wamamher

121) Which of the following Articles of the Indian Constitution declares that no person shall be a
member of both the houses of Parliament?

A) Artcle 100
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B) Article 101
C) Article 98
D) Article 99

121) REAff@a # @ URAA Tfaune SIS A1 3fwde i 1 8 6 BIs HI cafdd I98 & et
Hewil HTHEGET g1 g2

A) 3= 100
B) 3/q=d< 101
C) sz 98
D) sf=ese 99

122) In which of the following regions in India is the Ramman festival celebrated?

A) Malwa region

B) Bundelkhand region
C) Garhwal region

D) Marwar region

122) YR # efaf@d & T B & 3 WATT 3c8d U1 STl 82

A) HTeTaT &=
B) giaras e
C) Trgard &
D) qRars &

123) Onam, the biggest Hindu festival during which snake boat races are conducted, is celebrated
in which state of India?

A) Karnataka

B) Kerala

C) Assam

D) Tamil Nadu
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123) S0, T TSTiee cleR, o TR TiU AT Grg SMalfod 1 ST 8, HRA & fohef T &
AT ST 872

A) st
B) 3ea

C) 3rqH

D) affrerang

o

124) Which of the following communities celebrates the Hemis festival in honour of Guru
Padmasambhava's birth anniversary?

A) Buddhist
B) Jain

C) Sikh

D) Parsi

124) fRFEATAREE 7 A I I GHEM & TeATsid H Sl & T & 3T cer 1 82

A) steerersit
B) Sferera
C) e

D) gt

125) Sir Creek forms the boundary between which of the following two regions of India and
Pakistan?

A) It separates Gujarat state of India from Sindh Province of Pakistan

B) It separates Punjab state of India from Punjab Province of Pakistan

C) It separates Odisha state of India from Sindh Province of Pakistan

D) It separates Rajasthan state of India from Punjab Province of Pakistan

125) faT Frer YR 3R Iifred & Aefaf@d S 9 & &137 & o FHaR™T §95a1 82

A) g HRA & TToRId T Pl TIfehedlet & Y gid I ST Bl g
B) g8 URd & USTd I I Iifhedia & USTTd Uid I 3T HRdl g
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C) I8 YRd & 3022 T Bl qifFeara & [er oid T 3] Hdl @
D) gg URd & TSTEATeT ToT D! IIiFEdteT & Uod uid 9 el Hdl &

126) Cardamom Hills are located in which of the following mountain ranges in India?

A) Vindhya Range
B) Western Ghats
C) Eastern Ghats
D) Aravalli Range

126) HRd # I TRIfSal Peafarad 7 § frd gda g & Rud 82

A) faear ada s
B) ufere ure

C) gdf ure

D) 3Rrarelt gda si@an

127) In which year was the Rowlatt Act passed that was officially known as 'Anarchical and
Revolutionary Crimes Act'?

A) 1917
B) 1919
C) 1918
D) 1920

127) e vae re a§ 7 ok forar T o7, O 3nfRieRe dR IR '3RISTH 3R FHifaery SR
sffATa & AH J SFT Sar A1?

A) 1917
B) 1919
C) 1918
D) 1920

128) In support of the Khilafat movement, the Non-Cooperation movement in India was started by
which of the following Nationalist leaders?
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A) Subhash Chandra Bose
B) Bal Gangadhar Tilak

C) Mahatma Gandhi

D) Raja Ram Mohan Roy

128) farafafad wseardy AdTsil & ¥ frash earT feThd Sfidid & Tadie 3 HRd ¥ S[IgaNT
Sffare Y& fomam T Y12

A) gUIY e I
B) qret TR faere
C) srgrean Mieh

D) 3re1 I Hig X

129) As per Article 53 of the Constitution of India the executive power of the Union is vested in the

A) Chief Justice of Supreme Court
B) Prime Minister

C) President

D) Speaker of Lok Sabha

129) HRA & HAETT & 36 53 & TR FY & HRdTfera rfed

A) ITaad ~aaTed & T i F ARa©
B) werrer 314 & e 8

C) areeufa & AR ©

D) elieh |HT & 3reret & AR 8

130) Supreme Court of India has formulated a set of guidelines to be followed for entertaining

letters or petitions recieved by it as PIL(Public Interest Litigation). Which of the following options
falls under the given set of guidelines?

A) Petitions related to landlord-tenant issues
B) Petitions against police for refusing to register a case

C) Issues related to admission into medical and other educational institutions
D) Service matter and those pertaining to pension and gratuity
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130) YRd & Fafed =amaTerd = PIL(STfed ITfaen) & &9 3 gred g4t a7 arfensit & e @ foo
enfadelt BT e ufauried frar g | Peafaf@d & ¥ & 91 feey 37 feenadet & I & siaea
3T &2

A) HT FTfores-fRieR Heal 9 Fefd anferd
B) AT got R ¥ 37HR DA R Yo & e Frfemr
C) farfercam ol 3 QYeOTes et  saer § e Hag
D) atterdy Taeft AR treret IR reard @ siferer T

131) Which of the following dates is celebrated as the National Technology Day in India to
commemorate Operation Shakti?

A) 29th August
B) 5th June

C) 23rd June
D) 11th May

131) SRR eIfFa BT 3 Peieat B & T HeATai@d & F DI U dig TSET died @ feaq &
9 3 7S I 872

A) 29 3mTET
B) 557
C) 23 5

D) 1173

132) World's lightest satellite weighing only 64 gms named as 'KalamSat' was launched by which
of the following space organizations?

A) Indian Satellite Research Organization
B) National Aeronautics Space Agency
C) European Space Agency

D) Russian Federal Space Agency
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132) feafafad & 9 fFg 37aReT T3 earT HAHYAIC AHG 32T & ol gosh 39T DI yaifd
o T T forhT 99 dhadl 64 a1 872

A) YR sfafer SrdU™ e
B) A3 vieifeard T wordy
C) gRId1g 3iafyat woie

D) yfewaet hsaedy wordr

133) Udio, India's first social mobile wallet was launched by which of the following digital payment
start-up companies?

A) MobiKwik

B) TranServ

C) Oxigen

D) State Bank Buddy

133) fArafofad & 4 frg RBfSea YIdH d3e T 31U SHUH! gaRT HRd S Jgel JHTSID HIGSd
dicic, Udio o1 & fomam a1 412

A) AYfeTeas
B) ziws

C) sifereisiet
D) ve d& 9l

134) The highest Life Time Achievement Award in Sports and Games instituted in 2002 by the
Government of India is

A) Rajiv Gandhi Khel Ratna Award
B) Dronacharya Award

C) Dhyan Chand Award

D) Arjuna Award

134) YURT ARBR eaRT 2002 & T B 3R shrer & 847 # Fafea AW <RH srefhiasie 3@
(SHITIRT GIEHR) I I 62
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A) Irsita TMief Te TeT JREDPR
B) gomars grehR

C) eaerde; QrEaR

D) 3fSfet Greehre

135) Which cricketer is named the Goodwill Ambassador for Street Child Cricket World Cup 20197

A) Mithali Raj

B) Harmanpreet Kaur

C) Mahendra Singh Dhoni
D) Virat Kohli

135) TEIE T1S03 fhehe faed HU 2019 B T v fhehex I T[3fer Teawst A1TAd fohar T 87

A) frareh IS
B) gxaadid R
C) g g &=t
D) farte gl

136) How many constituencies voted in the first phase of the Lok Sabha Elections 20197

A) 71
B) 81
C) 91
D) 99

136) THHHHT THIT 2019 b Tgel TR 3 forctet fovaTaet avt ¥ HAGH gaiT?

A) 71
B) 81
C) 91
D) 99

Page540f89



Setld: 61812 2 Technical Assistant(LAB) — Civil  BATCH3 180CT2020

137) Which of the following states did not go to the polls in Phase 1 of the Lok Sabha Elections
20197

A) Andhra Pradesh
B) Assam

C) Bihar

D) Tamil Nadu

137) fe=Afaf@d & 9 311 91 e, A THT I 2019 & Ugdl oRU & &gt U1?

A) 3tier geer
B) s/
C) e
D) affrerang

o

138) Where in the human body is the urea formed?

A) Liver

B) Kidney
C) Stomach
D) Spleen

138) HIMd AR & RAT Bl a7dl 67

A) e
B) e

C) s
D) it

139) Woollen sweaters keep us warm during winters. Identify the CORRECT reason which
supports this statement.

A) The trapped air in the woollen sweaters is a good conductor of heat
B) The trapped air in the woollen sweaters is a bad conductor of heat
C) The wollen sweaters reflect the heat away and keep the body cool
D) The wollen sweaters allow air to circulate below the fabric
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139) S E¥eX &3 AT B SR 9197 ITA &1 3T HYT HTFAYH B I TET HRUT B Igarey |

A) St edex F B gar, g 4 sred Jares gidl @

B) it edex & Bl gal, A1y 4 3redY JaTed 8 gl 8
C) St edex U &) wwrafdd a § 37K ¥R Bl SR &
D) Sl edex, 591 B USSP Hiek FaTRe B ad &

140) The total number of Fundamental Rights in Indian Constitution after the enactment of the 44th
Constitutional Amendment, 1978 is:

A) 6
B) 5
C)4
D)7

140) 443 Faenfares MY, 1978 B JifAfATHT & d1G URAN dfaene & Aifores 1fsRT 6 oo
T Rl 87

A) 6
B) 5
C)4
D)7

141) The rock-cut temples of Mahabalipuram were built under the patronage of the

A) Pallava kings
B) Chola kings
C) Chera kings
D) Pandyan kings

141) T2l BI DT P TIY T FAGTAToIGRH B HIET BT oA TOT fafet ST o FYator ¥ 53T T2

A) geera ST
B) Zra et
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C) =7 1o

D) gigarer Il

142) Ugadi is celebrated as New Year's Day by the people of which of the following states?

A) Karnataka

B) Assam

C) Madhya Pradesh
D) Himachal Pradesh

142) F=TAAd & ° DI Y T b A9 SaRT 3IMEN DI AT A & et & & & AT STl 62

A) Feiesn

B) 3Ry

C) me wear
D) fgsmerer weer

143) Which of the following ridges is located in the northern section of the Central Indian Ocean
Ridge?

A) Nazca Ridge
B) Gorda Ridge
C) Carlsberg Ridge
D) Cocos Ridge

143) A faf@a  Q S I 94 heh ALY g HERITR Hedh d 3adr HIT 7 Rua &2

A) AI5IpT Hedh
B) aitst ek
C) #redasT heh

D) plp g dHesh

144) Who among the following was defeated in the Battle of Plassey in 17577

Page570f89



Setld: 61812 2 Technical Assistant(LAB) — Civil  BATCH3 180CT2020

A) Siraj ud-Daulah
B) Lord Clive

C) Colonel Watson
D) Mir Jafar

144) 1757 3 vordY & Jaer 7 A= fafe 3 d P wRIfoTd g T2

A) R I
B) &ifs FFerza
C) seter dicT
D) 7R Siex

145) Who among the following rulers marked the end of Maratha dominance in Punjab with the
third battle of Panipat in 17617

A) Akbar

B) Ahmad Shah Durrani
C) Ibrahim Lodi

D) Bairam Khan

145) =Tl e & ¥ fhaer 1761 7 UFIUd T fral) TSTS b HIY USTd & TRIST y8ged & 3id
D! R forar?

A) 3fhaR

B) sigwe =g et
C) anfear @ity

D) Ry @M

146) The Bharatiya Janata Party (BJP) is the successor party of which of the following parties,
which merged itself into the Janata Party in 19777

A) Bhartiya Shakti Sangh
B) Bhartiya Jana Sangh
C) Bhartiya Hindu Sangh
D) Hindu Mahasabha
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146) YRATT Sa1 aréf (BJP) Refaf@a & ¥ fra urél 1 saufiey urél g, S 1977 & S=ar urét
H R g1 s e

A) YR afea g
B) yRdta o 4y
C) WRdia g &y
D) R #gTaHT

147) ROSA is an experiment conducted by NASA to power satellites and spacecrafts. ROSA is an
abbreviation for:

A) Research On Satellite Adamance
B) Roll-Out Solar Array

C) Research On Satellite Adaptability
D) Roll-Out Solar Adaptability

147) ROSA 393Igt 1R 37T ITeit Pl Fsit G & folT NASA EaRT atfeldd U T4 51 ROSA
feperehT HiETC &9 2

A) R 39 dearge vsi|

B) Jd-3¥eTIaR 3R

C) Rt i HCdTRe vstetataer
D) - 3T3cHeR vsTeiafordr

148) What is the wireless technology developed at Indian Institute of Technology, Kharagpur for
remote monitoring of condition of those patients who are ferried in ambulances?

A) AmbuSens
B) Live-Mont

C) Diagno-ext
D) RemoteAmbu
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148) HRAT A Trare TSR & I fa drRey dodb-ih &l T 71 § O Taderd & TR
B aTdd AL BT GIE fALETOT HRAN?

A) g
B) @ga-Atee

C) srgear-taae
D) Reteusy

-

149) In Asian Games 2018, who won the gold medal in Men's Triple Jump Event?

A) Tejinder Pal Singh
B) Rohan Bopanna
C) Divij Sharan

D) Arpinder Singh

149) 2018 TS Well &, Yout H feuer U 3dc # Taut Uge fohae Sfidi?

A) dfsier urd g
B) g Srgeatr
C) Rfast RO
D) srfiez R

150) Which of the following awards is given mainly to the overall top winners in the Inter-University
tournaments?

A) Maharaja Ranjit Singh Award

B) Maulana Abul Kalam Azad Award
C) Vijay Hazare Award

D) Santosh Trophy

150) fAe=ATaf@d & ¥ B 1 WEhR Y& &9 ¥ Sfar-faafdearery Al & $d Ny aidnsit &
feram iTell 87

A) HERTST 0TS &g JREPR
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B) HIdTHI 31gel el STl REFR
C) fasrar goIR 31a1$
D) Gdly grehr
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Section 4 - Civil

No. of Questions: 50

151) Which of the following Indian Standard Codes has the Live or Imposed loads specified for
different types of floors?

A) I1S:456
B) 1S:800
C)1S:875
D) 1S:1893

151) fe=far@d 7 ¥ fFg HRdAG A DleH Affies TR o Bt (FelX) & fore d1sd a1 e 71U
HR (s7diss dle) fafafése e 7 &2

A) 1S:456
B) 1S:800
C)1S:875
D) 1S:1893

152) If the compacting factor of a concrete sample is approximately 0.92, then what will be the
level of workability according to Indian Standards?

A) Very low
B) Medium
C) High

D) Very High

152) Ife; oY dhshie TH BT FIEAFFEIT thekeT TRIHAT 0.92 §, T HRANT HAleleh! B TR HrLerdr
@IHTITEY) BT T 1T BII?

A) ggd faeer @8 il
B) mrearH (#fzge)
C) 3= (81%)

D) §d 327 (A B1%)
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153) Which instrument is used to measure velocity of flow by converting kinetic energy into
pressure energy?

A) Venturi meter
B) Orifice meter
C) Pitot tube

D) Flow nozzle

153) aTTcrsT Folt D1 GAId FaT F TRAfTd B YATE & avl B AU & fIT ford SUDHRUIHT IUTRT fehar
ST 87

A) it Hier
B) snfiywrsw AR
C) Rrere g9
D) wreit AIofal

154) Which of the following statements is CORRECT with respect to Hydraulic Jump in channels?

A) Sudden and turbulent passage of water from supercritical state to subcritical state
B) Slow and non-turbulent passage of water from subcritical state to supercritical state
C) Sudden and turbulent passage of water from subcritical state to supercritical state
D) Slow and non-turbulent passage of water from supercritical state to subcritical state

154) AsTelt 7 grESifore o g & Yoy #F Pefaf@d 7 I S 91 HUF & 82

A) Ol BT gmRiRfeRer 3ravem A Tafhfeder 3o & S IR A (eXegeic) YR
B) Ul &1 wafhfeerer e § YRk eaer sraear & € SR ¥id (AM-exsgeie) TR
C) urft P aefhieser sravam I uRfhfedher 3rawar 7 3RS 3R 3RIId (eTsgeie) URUI
D) ot 1 geRfEhfesher 3rawer 4 Fefhiesre 3w 7 G 3R Tid ([ -cIsgeie) RV

155) In Soil Mechanics, the Plate Load Test is generally useful to estimate:

A) Cohesion property of soil
B) Abrasion property of soil
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C) Ultimate bearing capacity of soill
D) Depth of foundation

155) HeTfaeeIs T fa=irel &, Toic YR o177 30 dR R et & T Fg Req & Hhad & faw
I g7

A) faedr BT EISH T
B) faredY 1 aryor 701
C) faredr &7 TR YR &TH T

D) =ftq &r Tevs

156) Which among the following options is NOT an example of Inert Waste?

A) Vegetable peels
B) Wood

C) Metals

D) Cement Concrete

156) fre=Tfaf@d fsredt & @ DI 1 317 3rafArse (53¢ 3ee) BT ISTERUIFET 872

A) gesit & et
B) wep el

C) arq

D) e dshre

157) The U.S. Environmental Protection Agency (EPA) defines ISWM as a complete waste
reduction, collection, composting, recycling, and disposal system. What is the full form of ISWM?

A) International Solid Waste Mechanism
B) Integrated Solid Waste Mechanism
C) Integrated Solid Waste Management
D) International Solid Waste Mobility
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157) 3ARET qafaior TeTor Tl (EPA), ISWM 1 U ot 3rqfRIse °Cidl, §arg, WIe, GadshoT 3R
foraere gumrel & & #F aReNRT HIA 81 ISWM BT g0t &9 F27 82

A) SeHTAT Fifers Jee Adfasa
B) génies wifos ave Asfaea
C) génes wifers awc Axsrie
D) ez difars ave Afafod

158) The ratio of the volume of the voids to the total volume of the given soil mass is known as:

A) Unit Weight

B) Dry Density

C) Porosity

D) Specific Gravity

158) feT TN AeE & gegATal & RiFd B AT ¥ IYD DA M B U Dl T BT Sl 87

A) AT UR
B) g5 getca
C) v

D) fafRrse wea

159) With respect to the index properties of a soil, if the plastic limit is equal to or greater than the
liquid limit then the plasticity index will be

A) 0
B) 1
C) 2
D)3

159) Ueb TATE & Yabieh T[oit & ey F, AR cennites faffe MifFas Fiffe & R I ITA 317
3, 1 cofee fRér 3o T 812

A) 0
B) 1
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C) 2
D)3

160) Generally, the steel compression members composed of two angles back-to-back shall be
connected by riveting or welding. As per 1S:800-2007, if the thickness of these members is up to
and including 16 mm, then the minimum diameter of the rivets shall be taken as:

A) 10 mm
B) 15 mm
C)20 mm
D) 25 mm

160) 3T R WX, TEXT HIRNT FHa¥ Toraed U & 3R ¥ T al Bl &, RaAfear a1 afessr eart To 8
&11S: 800-2007 & STHR, T 37 #HaT T HICTS 16 mm TP AR AR &, Al Rded PT=g7dH =amd
AR form e o

A) 10 mm
B) 15 mm
C)20 mm
D) 25 mm

161) Which among the following steel sections is usually NOT specified by its depth and weight?

A) Channel Section
B) Angle Section
C) I-Section

D) T-Section

161) PTTof@d & T HH 1 TEeT e SR TR SHeT TGRS 3R 9o ganT ifése gt g7

A) J9d daFereT
B) U darereT
C) |-deere

D) T-aser
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162) The operation of levelling across a river is usually known as:

A) Profile levelling

B) Reciprocal levelling
C) Compound levelling
D) Fly levelling

162) U A& & 3R-UR AT SR &I THAR TR AT BTl 82

A) SrTeer arafesiar

B) Yfsieper arafeciar
C) rarss ardfeeiar

D) wreré Safeeiar

163) Which of the following methods of plane table surveying is also known as “Graphic
Triangulation”?

A) Intersection
B) Resection
C) Traversing
D) Radiation

163) Tolel Cael HaTUT b faaAfaf@a adient & F fh "anftheh grarcl¥" it HeTerel o2

A) gregdeee
B) Raerere
C) &afder

X

D) Yfewermet

164) What is the basic span to effective depth ratio specified in IS-456 : 2000 code for control of

vertical deflection in R.C.C beams for continuous support and spans upto 10 m?

A)7
B) 20
C) 26
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D) 36

164) 1S-456 : 2000 P STHR, Feaier fASTUr & HAIT0T & fAT Ferdlegq FUNE T 3R 10 m TH B
T 9T R.C.C 819 & 3R T W sthfded 3o BT SUTT 4T 672

A) 7

B) 20
C) 26
D) 36

165) The maximum permissible width of crack in concrete structures exposed to moisture or in
contact with soil as per 1S:456-2000 is about

A) 0.2 mm
B) 0.4 mm
C) 0.6 mm
D) 0.8 mm

165) 1S:456-2000 & S{THR, TH! & U & AT fAE B Tuh 37 {1 aTell dhehle ST & RR A
3R SFTHT TISTS ATHT fahcel 57

A) 0.2 mm
B) 0.4 mm
C) 0.6 mm
D) 0.8 mm

166) Read the following statements and choose the CORRECT option.

(i) The moment of resistance of a doubly reinforced beam section is found by taking the moment of
compressive forces about the centre of steel bars in tension.
(i) In the case of doubly reinforced beam section, the section is always over-reinforced.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (ii) is TRUE
D) (i) is FALSE and (ii) is FALSE
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166) =TTl YA BT IS 3R TEY Aehed Toi |

(i) T F EEeT a1 b ehg, & TRT IR FRRT Teit BT A o I T el Jawres §iF deee &
gfeRTYr P ARe Aaar gl
(i) 2Tl DTPIES N JerereT b ATHS &, YT gHN SNR-FAPIES BT 2|

A) (i) TEr § 3R (i) T &

B) (i) @& & 3R (ji) Terd §
C) (i) Terd B 3R (ii) G §
D) (i) et § R (i) TTed ©

167) The continuous strain, which the concrete undergoes due to application of external loads, is
known as

A) Strength

B) Impermeability
C) Shrinkage

D) Creep

167) STedT HR & FYAeT & HRU I8 fAeR T1d o shshie TRl &, S 4T ISl 67

A) Eor

B) s fAafafery
C) Brra

D) g

168) What shall be the range of Reynolds number for the flow in a circular pipe to be laminar?

A) Less than 2000
B) Between 2500 and 3000
C) Between 3000 and 4000
D) More than 4000
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168) ATFAR BIH & T U IR U1 & YaTg & foIT Ieiiesd G&ar 1 JHT a1 giir?

A) 2000 ¥ HH

B) 2500 3R 3000 & &
C) 3000 3fR 4000 & o9
D) 4000 ¥ 311

169) What is the value of hydraulic radius in a trapezoidal channel to be most efficient or
economical?

A) Quarter the depth of flow

B) Half the depth of flow

C) Three quarter the depth of flow
D) Depth of flow

169) U Euigsd Td & Jad GaTH U1 Frerad 811 & farw grssifoes fisar S1HM #1182

A) yaTg T TTERTS T UD AUTS
B) vt & TGRS BT 31T

C) yarg ¥ TETS DI A AUTS
D) garg &1 xS foraAT

170) Which among the following options is the CORRECT condition for a floating body in a stable
state of equilibrium?

A) Metacentre is above centre of gravity

B) Metacentre is below centre of gravity

C) Metacentre and centre of gravity coincide

D) Metacentre is exactly 1 cm b elow centre of gravity always

170) e r Ueb e Feufay 3 U dd gu fifs & fare, Peafaf@d fwet o @ o 4 aRkfeafa
e

A) B2l Hex, Toearasor & S HIRY
B) AT dex, ocarador & &g 1 §
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C) Aer Fex, 3IR Tocarehsor 1 &g A Tl 8
D) B¢ Fex, 1@%@%’%@%1 cm =2 gldT g

171) The void ratio and specific gravity of a soil sample are 0.80 and 2.75 respectively. The degree
of saturation in percentage corresponding to water content of 25% is

A) 75.1%
B) 36.4%
C) 85.9%
D) 58.2%

171) U Hal & THA BT ReFddr 3UTd 3R faRrse Toca saer: 0.80 3R 2.75 & 1 25% S &
SFTE Gt AT Sifererel 3 et 87

A) 75.1%
B) 36.4%
C) 85.9%
D) 58.2%

172) Which among the following options represents the Taylor's Stability Number (Sn), with respect
to the stability of slopes of soils?

(Here, Fc = factor of safety with respect to cohesion, ¢ = cohesion of soil, H = height of the slope, y
= unit weight of the soil)
(Symbols and notations carry their usual meaning)

(i
g —
AT Yy HE
s cH
B ey
. (i
c) Sn = HE.
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S 1.5¢
D) ™ yHE

172) T & oreit @1 FEeRdr & JaY , oot 3 I T RAereq oR I TR Bl geiiar 82

(@81, Fc = HHG & HeYy & therex 3T AW, ¢ = HaI HTHIGH, H = G H T8 y = Hal H 3518
HR)

(Rieg 3R G 307 vafed 31 gl )

G
y HE,

A) Sn. =

cH

S =—
7 T YE

g Bbc
n }/ H Fc

173) Read the following statements and choose the CORRECT option.

(i) The commonly used penetration resistance measurement tests on soils are Standard
Penetration Test and Cone Penetration Test.

(i) The cone resistance is approximately equal to 5 to 10 times the penetration resistance.
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A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

173) o=t HUa B 9& 3R TEY ehed Toi |

(i) FACE TR 3 IR W YT gfaer A9 & faw TR fhe M ardl adietor, A dY= qiaTor 3R
e Y greTor

(i) R gfeRier, AT FfeRIY & @ THT 5 10 AT 5

A) (i) TE & 3R (ii) TE &
B) (i) wér & SR (ii) 7T §
) (i)

) (i)

C) (i) T § 3R (i) TET §
i) el & SR (if) TAd ©

)

174) A masonry dam is founded on pervious sand having porosity equal to 45% and specific
gravity of sand particles is 2.65. For a desired factor of safety of 3 against sand boiling, the
maximum permissible upward gradient is:

A) 0.551
B) 0.314
C)1.258
D) 0.302

174) U RS a4 gderes 30 TR €21 f&3am AT 8, foreehr a3erdr 45% g, 3R ¥d & it &1 fafarse
Tocd 2.65 § | Xd IeeH & faeey aifsd 3 & YX&TT B DRD D foIT, HUhdA THT F9 A &)

A) 0.551
B) 0.314
C)1.258
D) 0.302
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175) Spilled or unused medicines, expired drugs, and used medication receptacles are examples
of which of the following types of bio-medical wastes?

A) Pharmaceutical waste
B) Infectious waste

C) Pressurized containers
D) Anatomical waste

175) fredY §< U1 39rger GaTt, TFAdTR Bl 4T GaTY, MR ST gl I qargsil & ur, e 4 9
e IR & Sd RAfcds IR P ISEI0E?

A) GaT 3rafirse

B) Hshrees 3mafse
C) gard ard R
D) emidrar 3rafrse

176) Which of the following options are the waste management rules followed in India, as of
January 20207

A) Solid Waste Management (SWM) Rules, 2016
B) Solid Waste Management (SWM) Rules, 2020
C) Municipal Solid Wastes (Management and Handling) Rules, 2000
D) Municipal Solid Wastes (Management and Handling) Rules, 2018

176) STeTalY 2020 A, RFAfATAd & ¥ DI Il [sheq 3aRISe gaveT T &, o 4R & TR0
e STl 87

A) Fifers a¥e Haerie (SWM) e, 2016
B) @ifors a¥c Aaedie (SWM) e, 2020
C) rafafve difos ate (Haseie Tsisfem) T, 2000
D) mafafader @ifers ave (Faereie T sea, 2018
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177) Read the following statements and choose the CORRECT option.

(i) Uranium mill waste from mining and milling industries is an example of Medical Waste.
(i) The Radioactive Waste generated from various industries is in the form of solid only.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

177) fr=Tai@d HUaA B 9 3R TE) Rehed I |
(i) T 3R AT segit & qifae @ 3uRise AfSwher aee H1 TP IGBRUg |
(ii) FaIeeT Seelt ¥ Scuea YAt 3afise Sad 319 & &7 7 5

A) (i) T8 8 3R (i) T8 &

B) (i) &Y 8 3R (ii) Tad §
C) (i) TTerdl © 3R (ii) TET B
D) (i) TTad ® 3R (ii) TeId B

178) Which among the following equations define the law of deflection of flow line at the interface
of two dissimilar soils? (Given: k1 and kz are permeability coefficients, ©1 and ©2 are the angles
that the flow line makes with the normal to the interface before and after deflection.)

(Symbols and notations carry their usual meaning)

sin 04 k4
A —— = —
cos 05 ko
cos 64 k4
B) "y
cos O, ko
sinf;  ky
) sin 8, o k-
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tan6; k4
°) tan 6, - ko

178) fre=ifaf@a & § I 1 THIHRU1 &F 3@ fAed & IRBIWR Farg 3T & fGaqor & s o

qRETRT Bl 67
(T TRIT @ : k1 3R ke IRITEIAT T[T &, ©1 3R 62 I8 BIVI & Sll vaTg X1, f3eiqor & gl 3R aIa
H SRGIY FAidel B Y T 2

(R 3R ba= U7 gafera 31t g2id )
sin 64 kq

A) = —
cos 0, ko

cos 64 k4
B) T I

cos 0, ko
sin 64 k4
C .
) sin 6, k-
tan6,; k4
°) tan 6, - k-

179) Read the following statements and choose the CORRECT option.

(i) The Vane Shear Test is used to determine the undrained shear strength of non-cohesive soils
only.

(i) In this Vane Shear Test, the vane shears the soil along a cubical surface.
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A) (i

(i)

(i) is TRUE and (ii) is FALSE
(i) is FALSE and (i) is TRUE
(i) is FALSE and (ii) is FALSE

) (i) is TRUE and (ii) is TRUE
B)
C)
D)

179) fAeaAfafad Fuat o1 9 3R T e I |
(iyaT FRIIY € HT AN Had TR-gafFaier A I 3rsss R €& &l Fuig & & fow
f3raT ST B |

(/)39 A AR e #, 9 AT 1 T UHIY clg & 1Y Bleid §U DR BRI 6|

A) (i) T&r 8 3R (i) T8 &

B) (i) €Y 8 3R (ii) Tad §
C) (i) TTerdl © 3R (ii) TET B
D) (i) T ® 3R (ii) TeId B

180) Group symbols assigned to silty sands and clayey sands as per Unified Soil Classification
System are:

A) SM and CS
B) SS and CS
C) SM and SC
D) MS and CS

180) JfAhIss TIsel FellfATthehereT AT & IR, RAedr 3, SR Forlt Az DI DM I THE viaw
(R=e) Rw U &2

A) SM 3R CS
B) ss sfRcs
C)sm 3R sc
D) Ms 3R CS
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181) The Effective Length of a compression member as per IS: 800-2007, where it is effectively
held in position and restrained against rotation at one end, but neither held in position nor
restrained against rotation at the other end shall be:

(Here L is the unsupported length of the compression member)

A)1.0L
B)1.5L
C)2.0L
D)25L

181) IS : 800-2007 & AR YUIST TeTT (FFIRIeT FHeR) T TeaTdY SalTs 1 BT, O Teb FAR W
STt T  Feurfay 3 € SR Uofer wfeifiia €, ifter qER Y R T8 e &9 & Feufay o § ofRard
guiet ufeferd g7

(@eT LIS HeE (HFaereT Fav) &1 &1 ¢ 1 ddls g )

A)1.0L
B)1.5L
C)2.0L
D)25L

182) The percentage of carbon for structural steel as per Indian Standards is approximately:

A) 0.23%
B) 0.8%

C) 1.83%
D) 1.27%

182) R HATeTehl & TR TXAATcHS SEIT & T FHIdeT BT FfARIT ATHT RhckT BIdT 87

A) 0.23%
B) 0.8%

C) 1.83%
D) 1.27%
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183) Read the following statements and choose the CORRECT option.

(i) Afillet weld is usually recommended if the angle between the fusion faces is less than 60° or
more than 120°.

(ii) The effective length of a fillet weld is equal to its overall length minus twice the weld size.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

183) =TTl e B 9& 3R TEY Aehed Tot |

(i) I TGS B D d1d BHIHI 60° F HH IT 120° F 3110 8l dl, 3H dR R fhele oz i AwRer
&1 oIt B

(ii) T Rbole deg T g ddls, 3P Yot Afals & ¥ dos 1SS & al 71 Pl geH R e dred JH
& RIS B ¢

A) (i) TEr 8 3R (i) T &

B) (i) @& 8 SR (ii) Ted §
C) (i) Teid § 3R (i) TEY B
D) (i) Tad § 3R (ii) T B

184) As per IS 800-2007, generally the minimum pitch of rivets shall be taken as:
(Given, d= nominal diameter of the rivet)

A)0.5d
B)1d
C)2d
D)2.5d

184) IS 800-2007 & THR, 3 dR W Rded H wg7aH g ReaaaR o Jchl 3:
(R T §: d= Rde BT aATfHeTar SAMR (3ifafkd =) ®)

A) 0.5 d
B)1d
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C)2d
D)2.5d

185) Which of the following options is the maximum deflection allowed in a steel beam as per
Indian Standards?

A) 1/225 of the span
B) 1/180 of the span
C) 1/150 of the span
D) 1/325 of the span

185) fre=ifaf@a & T B I Reed U E&el S & o 31fed#H fFaqor 8, S HRA ATt &
3TAR TS 87

A) BT HT11/225
B) ®e1 #11/180
C) & $T11/150
D) e #11/325

186) Which of the following corrections is automatically rectified or neutralized, while measuring
linear distance with a tape when normal tension is applied?

A) Correction due to sag only

B) Correction due to pull only

C) Correction due to sag and pull

D) Correction due to vertical alignment

186) W& Uh U & 1Y W g 1 HIUA & fT A1t a1 N R Il 8, 09 et & 4 I 1
BRI 30 1Y & Feria 1 fsyanfad g1 ST 82

A) &I T F g aTe e

B) &act ga F g dTell derreT

C) &1 IR gl ¥ g SR

D) Featew TGN (aferel Tarsstdie) T B aTdl &Rl
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187) The required slope correction for a length of 60 m along a gradient of 1 in 20 is

A)7.5m
B) 7.5 cm
C)0.75cm
D)5.75 cm

187) 20 # 1 T If2TC & TIY 60 m T AE18 P AT aifd T B, faFT &

A)7.5m
B) 7.5 cm
C)0.75cm
D) 5.75 cm

188) If a reading is 120 degrees in Whole Circle Bearing System, then what will be the same
reading in Quadrantal Bearing System?

A) E 30 degree S
B) S 30 degree E
C) S 60 degree E
D) S 60 degree W

188) g B Hehol ST AT QT 120 B3 B, Al Farsrea AT AEeH 7 o §fFa fraen
BIfl?

A)E 30 f3afr S
B) s 30 feah E
C)s 60 R E
D) s 60 f3afr w

189) Which one of the following options is generally used for the measurement of baseline in
triangulation?

A) Synthetic Tape
B) Invar Tape
C) Cloth Tape
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D) Linen Tape

189) AR WR SRITARA 3 SHATSH & HIUH & forw eafaf@d & ¥ fhg fAsheq 13U faar
STl &2

A) fdfes <
B) s=ac 2u
C) Farer ¢y
D) freter 24

190) What is the minimum clear cover (hominal cover) to the main steel bars in a R.C.C column as
per 1S-456 : 20007

A) 10 mm
B) 15 mm
C)25 mm
D) 40 mm

190) 1S-456: 2000 & 3TIR R.C.C BIcH &, &I T IRT P fIT wg7dH FeR DHaR (ATl
HAR) FIAT B2

A) 10 mm
B) 15 mm
C)25 mm
D) 40 mm

191) What shall be the maximum spacing of vertical shear reinforcement in a structural member
along the axis of the member, if "d" is the effective depth of the section (As per IS: 456-2000)?

A) 0.25d
B) 0.5d
C) 0.75d
D) 1.0d
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191) Ueh TXTATcA HaR &, HaT & Y& & 1Y Ueb FEATER 395907 TaelsT D1 ehed 3IRIe Far
BT, A, 'd" SFTHRT (JerereT) T FaTTel TT8RTS (Sthfded ST2r) 87 (IS: 456-2000 & 3IER)

A) 0.25d
B) 0.5d
C) 0.75d
D) 1.0d

192) Which among the following options represents the CORRECT Francis formula for the
discharge over a rectangular weir if the end contractions are suppressed?

2
A) 1.84 L H3

B) 1.84 L H3/2
3
2

C) 284LH

D) 2.84 L H%/4

192) a1 31 § D Ul fehed, TH AATBR IR TR TFEER0T & orw TEY il Wiiel Bl i o,
Ife Ues Hiecarle DI Gal T SU?

2
A) 1.84 L H3

B) 1.84 [ H3/2
3
2

C) 284LH

D) 2.84 I H%/*
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193) Orifices are generally used for measuring the:

A) Height of the flow
B) Rate of the flow

C) Viscosity of the flow
D) Length of the flow

193) 3 IR R INNEEH BT IUANT e & F fre [eved B AGA S fore fram ST 82

A) gare Fr $aTs
B) garg fr &)

C) warg H1TMgIaA
D) varg r dars

194) Which of the following equations did Hazen propose in order to determine whether a soil
sample is uniformly graded or well graded? (Here Cu = Uniformity Coefficient and D = Diameter of
the soil particle)

(Symbols and notations carry their usual meaning)

A) Cu= Dso / D10
B) Cu= Dso / D10
C) Cu= D10/ Deo
D) Cu= D10/ Dso

194) 337 31 | DI 1 GHIBRUI 89 A TEIfad a1 &, I8 e P & forw Y Teb Hal bl T
THM &9 9 gafiepd (GRAmiee 323) U1 3 e I aefferd (@d 923) 87

(@81, Cu = IFAMFE FSHBRITE 3R D = Fedr & B B )

(Rieg 3R Fbad MU yafara 3¢ g2 8)

A) Cu=Dso/ D1o
B) Cu= Deo/ D10
C) Cu= D10/ Deo
D) Cu= D10/ Dso
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195) Which type of waste usually contains heavy metals like Cadmium or Mercury, due to which its
disposal becomes difficult?

A) e-waste such as TV, Computer etc.

B) Kitchen waste such as vegetable peels, and tea bags
C) Paper waste

D) Wood waste

195) Toh GohR & Pk & AR UR A2 1 URT oY 9718 1, Bid &, ord HRUT SHT faders
ARl B STl 87

A) e-3raflrse S TV, Heger 3nfe

B) 341$ 3rfRise oI o Teoll & ferss, SR I & I
C) BTel 3mferse

D) G glamfirse

196) Which among the following options is NOT one of the R's used in Solid Waste Management in
India as its basic principles?

A) Reduce
B) Revert
C) Reuse
D) Recycle

196) fAFATafEd 3 @ BIF 1 fashed HRA & Fifos aFc Asric & faw JUINT fFT S aret 7
fagyid 'R & Q T 7e1 82

A) Rsga
B) fRa¢
C) Rt

o

D) frarrener

197) Read the following statements and choose the CORRECT option.
(i) For a given soil, the angle on the graph (Mohr's Circle) of the shear stress and normal effective
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stresses at which shear failure occurs is known as angle of internal friction.
(ii)The shear strength of a given soil is always inversely proportional to the angle of internal friction.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ji) is FALSE

197) fAeaAfafad wuat B 9 SR @ fsved .

(i) e & 18 e & forT, HaAl a1 3R FTHT FHTdY 11 & I (AR Féhel) TR I8 DI, o
IR HAR [aBerdl B! 6, SUD! 3 eh T§OT & HIV] & &9 & ST STl 5|

(if) TRl forw TTT e dY T Rl dlehd SRR 3iTceh G407 & BHIUT B chATIUT! Bl |

A) (i) TEr 8 3R (i) T &

B) (i) wér & 3R (ii) T ®
C) (i) T & SR (i) T 3
D) (i) Tad g 3R (i) T ®

198) If the specific gravity of a soil is found to be G = 2.7, the dry density of soil = 1.7 g/cm®and the

unit weight of water = 10 kN/m3. What will be the values of void ratio and saturated unit weight of
the soil respectively?

A) 0.588 and 20.31 kN/m? respectively
B) 0.588 and 10.31 kN/m?® respectively
C) 0.488 and 20.31 kN/m? respectively
D) 0.488 and 10.31 kN/m?®respectively

198) U fAed B RARISE [oca G = 2.7, AT BIYH Geled = 1.7g/cm3 SR U B13HTS
aOF =10 kN/m3 U T & | sharer: fAeeT & RiFd U 3R Heod $bT8 HR & A giar?

A) garer: 0.588 37 20.31 kN/m?
B) saer: 0.588 3R 10.31 kN/m3
C) wraar: 0.488 3R 20.31 kN/m?
D) saer: 0.488 3R 10.31 kN/m3
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199) Read the following statements and choose the CORRECT option.
(i) Purlins are usually placed over the panel points of roof trusses.
(ii) Purlins are often designed only for the normal component of forces.

A) (i) is TRUE and (ii) is TRUE
B) (i) is TRUE and (ii) is FALSE
C) (i) is FALSE and (i) is TRUE
D) (i) is FALSE and (ii) is FALSE

199) TFF=Tad HUAT BT 4& SR TEY Aehed et |
(i) afcia SMHAR TR & & U d fegei R ¥ ofTd €
(il) Tfehe 31 Felt & Had aAleTer HiFEdee P fav Bofsst U od &

A) (i) T€r § 3R (i) TE 8

) (i)
B) (i) @Y 8 3R (ii) Tad §
C) (i) TTerd B SR (ii) TEY B
D) (i) TTerd & 3R (ii) TTeid ©

200) The distance between two points, measured with 20 m chain, was recorded as 327 m. The
chain was later found to be 3 cm too long. What will be the true distance between the points?

A) 327.49 m
B) 327.89 m
C) 326.59 m
D) 300.29 m

200) 20 m <1 & FIY HUT S dTe &l fSigail o oie T gt 327 m gof Y 715 | &1 & Ug Ul 11
I 3 cm Sgd el ( aten) | g3l o st i areafae gff (5 ofer ) Fam gl

A) 327.49 m
B) 327.89 m
C)326.59 m
D) 300.29 m
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